2010 Grade 3 Readlng Final Solutlon

k%% Comparison of Item characteristic curves (1CCs): New vs. Old *x#

nNewa . 2.

1 v ‘; i Form 00: N of Items = 20; Cor. A = 0.91; *Position Shift = 2.10

\ Form 37: N of Items = 7; Cor. A = 0.84; Position Shift = 1.57 ”

| Form 38: N of Items = 6; Cor. A = 0.85; Position Shift =1.17
1§ |Form39: N of Items = 7; Cor. A = 0.86; Position Shift = 0.14 L

Form 40: N of Items = 7; Cor. A = 0.42; Position Shift = 1.57
All Forms: N of Items = 47; Cor. A = 0.86; Position Shift = 1.62
A *Position shift is based on the final anchor set. O
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hiro.fukuhara
Text Box
Form 00: N of Items = 20; Cor. A  = 0.91; *Position Shift = 2.10
Form 37: N of Items = 7; Cor. A = 0.84; Position Shift = 1.57
Form 38: N of Items = 6; Cor. A = 0.85; Position Shift  =1.17
Form 39: N of Items = 7; Cor. A = 0.86; Position Shift = 0.14
Form 40: N of Items = 7; Cor. A = 0.42; Position Shift = 1.57
All Forms: N of Items = 47; Cor. A = 0.86; Position Shift = 1.62
                                
*Position shift is based on the final anchor set.

hiro.fukuhara
Text Box
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2010 Grade 3 Reading — Final Solution
#x+ Comparison of Item characteristic curves (ICCs): New vs. 0ld #+ +[pparameter]

newb 3 3

L Form 00: N of Items = 20; Cor. B = 0.95; *Ave. B Change = 0.06; **Position Shift = 2.10

Form 37: N of ltems = 7; Cor. B = 0.86; Ave. B Change = 0.06; Position Shift = 1.57

] |Form 38: N of Items = 6; Cor. B = 0.91; Ave. B Change = -0.05; Position Shift =1.17

| |Form 39: N of Items = 7; Cor. B = 0.90; Ave. B Change = -0.05; Position Shift = 0.14

4 |Form 40: N of Items = 7; Cor. B = 0.99; Ave. B Change = -0.04; Position Shift = 1.57

All Forms: N of ltems = 47; Cor. B = 0.94; Ave. B Change = 0.01; Position Shift = 1.62
(SD B Change = 0.24)

| -| [*B parameter is on the IRT scale. Change = New B - Old B.

**Pgosition shift is based on the final anchor set.
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hiro.fukuhara
Text Box
Form 00: N of Items = 20; Cor. B  = 0.95; *Ave. B Change = 0.06; **Position Shift = 2.10
Form 37: N of Items = 7; Cor. B = 0.86; Ave. B Change = 0.06; Position Shift = 1.57
Form 38: N of Items = 6; Cor. B = 0.91; Ave. B Change = -0.05; Position Shift  =1.17
Form 39: N of Items = 7; Cor. B = 0.90; Ave. B Change = -0.05; Position Shift = 0.14
Form 40: N of Items = 7; Cor. B = 0.99; Ave. B Change = -0.04; Position Shift = 1.57
All Forms: N of Items = 47; Cor. B = 0.94; Ave. B Change = 0.01; Position Shift = 1.62 
                                                                   (SD B Change = 0.24)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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2010 Grade 3 Reading -

Final Solution

¢+« Compoarison of Item characteristic curves (ICCs): New vs. Old *#x [cparameter]
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hiro.fukuhara
Text Box
c parameter
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2010 Grade 4 Reading — Final Solution

#+« Comparison of Item characteristic curves (I1CCs): New vs. Old #++[anarameter]
Form 37: N of Items = 7; Cor. A = 0.89; *Position Shift = 9.43
Form 38: N of Items = 6; Cor. A = 0.91; Position Shift =8.12
| Form 39: N of Items = 7; Cor. A = 0.92; Position Shift = 1.57
i Form 40: N of Items = 7; Cor. A = 0.95; Position Shift = 0.57
All Forms: N of Items = 27; Cor. A = 0.91; Position Shift = 4.81
*Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
Form 37: N of Items = 7; Cor. A = 0.89; *Position Shift = 9.43
Form 38: N of Items = 6; Cor. A = 0.91; Position Shift  =8.12
Form 39: N of Items = 7; Cor. A = 0.92; Position Shift = 1.57
Form 40: N of Items = 7; Cor. A = 0.95; Position Shift = 0.57
All Forms: N of Items = 27; Cor. A = 0.91; Position Shift = 4.81

*Position shift is based on the final anchor set.
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xx+ Comparison of Iltem chaoracteristic curves

2010 Grade 4 Reading — Final Solution

CCs): New vs. 0ld *x* [oparameter

nouon

N e s i _— X 5 —
1 "
i Form 37: N of ltems = 7; Cor. B = 0.84; *Ave. B Change = -0.02; **Position Shift = 9.43
Form 38: N of Iltems = 6; Cor. B = 0.86; Ave. B Change = 0.02; Position Shift = 8.12
Form 39: N of Iltems = 7; Cor. B = 0.94; Ave. B Change = 0.15; Position Shift = 1.57
Form 40: N of Iltems = 7; Cor. B = 0.99; Ave. B Change = -0.07; Position Shift = 0.57
| |All Forms: N of Items = 27; Cor. B = 0.94; Ave. B Change = 0.02; Position Shift = 4.81 o
' (SD B Change = 0.22)
: *B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set. O
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hiro.fukuhara
Text Box
Form 37: N of Items = 7; Cor. B = 0.84; *Ave. B Change = -0.02; **Position Shift = 9.43
Form 38: N of Items = 6; Cor. B = 0.86; Ave. B Change = 0.02; Position Shift  = 8.12
Form 39: N of Items = 7; Cor. B = 0.94; Ave. B Change = 0.15; Position Shift = 1.57
Form 40: N of Items = 7; Cor. B = 0.99; Ave. B Change = -0.07; Position Shift = 0.57
All Forms: N of Items = 27; Cor. B = 0.94; Ave. B Change = 0.02; Position Shift = 4.81 
                                                                   (SD B Change = 0.22)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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2010 Grade 4 Reading — Final Solution

tx+ Comparison of [tem characteristic curves (ICCs): New vs. Qld #+*[cparameter]
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xxx Comparison of [tem cha
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Final Solution

Form 37: N of Items = 7; Cor. A = 0.88; *Position Shift = 2.00
Form 38: N of Items = 8; Cor. A = 0.91; Position Shift =1.13
Form 39: N of Items = 6; Cor. A = 0.96; Position Shift = 2.00
Form 40: N of Items = 8; Cor. A = 0.99; Position Shift = 10.00
All Forms: N of Items = 29; Cor. A = 0.90; Position Shift = 3.97

*Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
a parameter

hiro.fukuhara
Text Box
Form 37: N of Items = 7; Cor. A = 0.88; *Position Shift = 2.00
Form 38: N of Items = 8; Cor. A = 0.91; Position Shift  =1.13
Form 39: N of Items = 6; Cor. A = 0.96; Position Shift = 2.00
Form 40: N of Items = 8; Cor. A = 0.99; Position Shift = 10.00
All Forms: N of Items = 29; Cor. A = 0.90; Position Shift = 3.97
                   
*Position shift is based on the final anchor set.
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Comparison of Item character

stic curves

Final Solution

Form 37: N of Iltems = 7; Cor. B = 0.95; *Ave. B Change = 0.06; **Position Shift = 2.00
Form 38: N of Iltems = 8; Cor. B = 0.99; Ave. B Change = -0.04; Position Shift = 1.14
Form 39: N of Iltems = 6; Cor. B = 0.97; Ave. B Change = -0.02; Position Shift = 2.00
Form 40: N of Iltems = 8; Cor. B = 0.99; Ave. B Change = 0.22; Position Shift = 10.00
All Forms: N of Iltems = 29; Cor. B = 0.97; Ave. B Change = 0.06; Position Shift = 3.97

*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.

(SD B Change = 0.19)
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hiro.fukuhara
Text Box
b parameter

hiro.fukuhara
Text Box
Form 37: N of Items = 7; Cor. B = 0.95; *Ave. B Change = 0.06; **Position Shift = 2.00
Form 38: N of Items = 8; Cor. B = 0.99; Ave. B Change = -0.04; Position Shift  = 1.14
Form 39: N of Items = 6; Cor. B = 0.97; Ave. B Change = -0.02; Position Shift = 2.00
Form 40: N of Items = 8; Cor. B = 0.99; Ave. B Change = 0.22; Position Shift = 10.00
All Forms: N of Items = 29; Cor. B = 0.97; Ave. B Change = 0.06; Position Shift = 3.97 
                                                                   (SD B Change = 0.19)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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2010 Grade 5 Reading — Final Solution

#x+ Comparison of [tem characteristic curves (1CCs): New vs. 0ld #x+#[cparameter]
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hiro.fukuhara
Text Box
c parameter
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2010 Grade 6 Reading -

t++ Comparison of

Form 37: N of Items = 5; Cor. A = 0.47; *Position Shift = 1.20
Form 38: N of Items = 7; Cor. A = 0.97; Position Shift = 3.00
Form 39: N of Items = 8; Cor. A = 0.93; Position Shift = 3.75
Form 40: N of Items = 7; Cor. A = 0.91; Position Shift = 2.86
All Forms: N of Items = 27; Cor. A = 0.85; Position Shift = 2.85

*Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
a parameter

hiro.fukuhara
Text Box
Form 37: N of Items = 5; Cor. A = 0.47; *Position Shift = 1.20
Form 38: N of Items = 7; Cor. A = 0.97; Position Shift  = 3.00
Form 39: N of Items = 8; Cor. A = 0.93; Position Shift = 3.75
Form 40: N of Items = 7; Cor. A = 0.91; Position Shift = 2.86
All Forms: N of Items = 27; Cor. A = 0.85; Position Shift = 2.85

*Position shift is based on the final anchor set.
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#x+ Comparison of Item charact Ve Cul

Form 37: N of Items = 5; Cor. B = 0.96; *Ave. B Change = -0.06; **Position Shift = 1.20

Form 38: N of Items = 7; Cor. B = 0.96; Ave. B Change = 0.11; Position Shift = 3.00

Form 39: N of Iltems = 8; Cor. B = 0.96; Ave. B Change = 0.05; Position Shift = 3.75

Form 40: N of Iltems = 7; Cor. B = 0.99; Ave. B Change = -0.00; Position Shift = 2.86

All Forms: N of Items = 27; Cor. B = 0.97; Ave. B Change = 0.03; Position Shift = 2.85
(SD B Change = 0.20)

*B parameter is on the IRT scale. Change = New B - Old B.

**Position shift is based on the final anchor set.

lii:fi'\!. \1\,\\'iil F i § 0 ¥ 3 ] ¥ 50 11 FT a0 ]

20 230 240 250 260 270 280 290 300

formlabe O 00 j§y kA 58

€5

Final Solution

(1CCs): New vs. Old #¢+[oparameter]

39 e e e 4



hiro.fukuhara
Text Box
b parameter

hiro.fukuhara
Text Box
Form 37: N of Items = 5; Cor. B = 0.96; *Ave. B Change = -0.06; **Position Shift = 1.20
Form 38: N of Items = 7; Cor. B = 0.96; Ave. B Change = 0.11; Position Shift  = 3.00
Form 39: N of Items = 8; Cor. B = 0.96; Ave. B Change = 0.05; Position Shift = 3.75
Form 40: N of Items = 7; Cor. B = 0.99; Ave. B Change = -0.00; Position Shift = 2.86
All Forms: N of Items = 27; Cor. B = 0.97; Ave. B Change = 0.03; Position Shift = 2.85 
                                                                   (SD B Change = 0.20)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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2010 Grade 7 Reading — Final Solution

01d * +[aparameter]

| L

x+x Comparison of

tem characteristic curves (ICCs): New vs.

Form 00: N of Items = 12; Cor. A = 0.89; *Position Shift = 2.83
Form 37: N of Items = 8; Cor. A = 0.83; Position Shift = 0.88
Form 38: N of Items = 8; Cor. A = 0.86; Position Shift = -5.25
Form 39: N of Items = 4; Cor. A = 0.86; Position Shift = -5.00
Form 40: N of Items = 7; Cor. A = 0.96; Position Shift = -7.23
All Forms: N of Items = 39; Cor. A = 0.89; Position Shift = -1.85

*Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
a parameter

hiro.fukuhara
Text Box
Form 00: N of Items = 12; Cor. A = 0.89; *Position Shift = 2.83
Form 37: N of Items = 8; Cor. A = 0.83; Position Shift = 0.88
Form 38: N of Items = 8; Cor. A = 0.86; Position Shift  = -5.25
Form 39: N of Items = 4; Cor. A = 0.86; Position Shift = -5.00
Form 40: N of Items = 7; Cor. A = 0.96; Position Shift = -7.23
All Forms: N of Items = 39; Cor. A = 0.89; Position Shift = -1.85

*Position shift is based on the final anchor set.
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Final Solution

01d #x[bparameter]

Form 00: N of Items = 12; Cor. B = 0.97; *Ave. B Change = 0.05; **Position Shift = 2.83

Form 37: N of Items = 8; Cor. B = 0.91; Ave. B Change = 0.05; Position Shift = 0.88

Form 38: N of Items = 8; Cor. B = 0.91; Ave. B Change = -0.01; Position Shift =-5.25

Form 39: N of Items = 4; Cor. B = 0.77; Ave. B Change = 0.05; Position Shift = -5.00

Form 40: N of Items = 7; Cor. B = 0.97; Ave. B Change = 0.03; Position Shift = -7.23

All Forms: N of Items = 39; Cor. B = 0.96; Ave. B Change = 0.03; Position Shift = -1.85
(SD B Change = 0.18)

*B parameter is on the IRT scale. Change = New B - Old B.

**Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
b parameter

hiro.fukuhara
Text Box
Form 00: N of Items = 12; Cor. B = 0.97; *Ave. B Change = 0.05; **Position Shift = 2.83
Form 37: N of Items = 8; Cor. B = 0.91; Ave. B Change = 0.05; Position Shift = 0.88
Form 38: N of Items = 8; Cor. B = 0.91; Ave. B Change = -0.01; Position Shift  = -5.25
Form 39: N of Items = 4; Cor. B = 0.77; Ave. B Change = 0.05; Position Shift = -5.00
Form 40: N of Items = 7; Cor. B = 0.97; Ave. B Change = 0.03; Position Shift = -7.23
All Forms: N of Items = 39; Cor. B = 0.96; Ave. B Change = 0.03; Position Shift = -1.85 
                                                                   (SD B Change = 0.18)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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2010 Grade 8 Reading — Final Solution

01d *++aparameter]

¢x+ Comparison of Item characteristic curves (ICCs): New

(k- =
7 Form 00: N of Items = 9; Cor. A = 0.92; *Position Shift = -0.11
Form 37: N of Items = 7; Cor. A = 0.97; Position Shift = -1.00
Form 38: N of Items = 4; Cor. A = 0.81; Position Shift =-10.00
, | |Form 39: N of Items = 7; Cor. A = 0.93; Position Shift = -0.29
.l | |Form 40: N of Items = 8; Cor. A = 0.93; Position Shift = -2.00
All Forms: N of Items = 35; Cor. A = 0.94; Position Shift = -1.77
1 |*Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
a parameter

hiro.fukuhara
Text Box
Form 00: N of Items = 9; Cor. A = 0.92; *Position Shift = -0.11
Form 37: N of Items = 7; Cor. A = 0.97; Position Shift = -1.00
Form 38: N of Items = 4; Cor. A = 0.81; Position Shift  = -10.00
Form 39: N of Items = 7; Cor. A = 0.93; Position Shift = -0.29
Form 40: N of Items = 8; Cor. A = 0.93; Position Shift = -2.00
All Forms: N of Items = 35; Cor. A = 0.94; Position Shift = -1.77

*Position shift is based on the final anchor set.
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¢x+ Comparison of Item characteristic curves (ICCs): New vs. 0ld #++[pparameter]

' [Form 00: N of ltems = 9; Cor. B = 0.96; *Ave. B Change = -0.00; **Position Shift = -0.11

" |All Forms: N of Items = 35; Cor. B =0.92; Ave. B Change = 0.08; Position Shift =-1.77

Form 37: N of ltems = 7; Cor. B = 0.97; Ave. B Change = 0.08; Position Shift = -1.00
Form 38: N of Iltems = 4; Cor. B = 0.99; Ave. B Change = -0.05; Position Shift =-10.00
Form 39: N of Iltems = 7; Cor. B = 0.83; Ave. B Change = 0.26; Position Shift = -0.29
Form 40: N of Iltems = 8; Cor. B = 0.99; Ave. B Change = 0.07; Position Shift = -2.00

(SD B Change = 0.24)

1 |*B parameter is on the IRT scale. Change = New B - Old B. ® O
1 |**Position shift is based on the final anchor set.
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hiro.fukuhara
Text Box
b parameter

hiro.fukuhara
Text Box
Form 00: N of Items = 9; Cor. B = 0.96; *Ave. B Change = -0.00; **Position Shift = -0.11
Form 37: N of Items = 7; Cor. B = 0.97; Ave. B Change = 0.08; Position Shift = -1.00
Form 38: N of Items = 4; Cor. B = 0.99; Ave. B Change = -0.05; Position Shift  = -10.00
Form 39: N of Items = 7; Cor. B = 0.83; Ave. B Change = 0.26; Position Shift = -0.29
Form 40: N of Items = 8; Cor. B = 0.99; Ave. B Change = 0.07; Position Shift = -2.00
All Forms: N of Items = 35; Cor. B = 0.92; Ave. B Change = 0.08; Position Shift = -1.77
                                                                   (SD B Change = 0.24)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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t+x Comparison of Item characteristic curves (ICCs):
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#++ Comparison of |tem characteristic curves

Form 37: N of Items = 7; Cor. A = 0.96; *Position Shift = 6.43
Form 38: N of Items = 8; Cor. A = 0.96; Position Shift = 8.00
Form 39: N of Items = 8; Cor. A = 0.93; Position Shift = -8.50
Form 40: N of Items = 6; Cor. A = 0.93; Position Shift = 3.67
All Forms: N of Items = 29; Cor. A = 0.94; Position Shift =2.17

*Position shift is based on the final anchor set.

inal Solution

[CCs): New vs. 0ld *#*«[apaamee]
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hiro.fukuhara
Text Box
a parameter

hiro.fukuhara
Text Box
Form 37: N of Items = 7; Cor. A = 0.96; *Position Shift = 6.43
Form 38: N of Items = 8; Cor. A = 0.96; Position Shift  = 8.00
Form 39: N of Items = 8; Cor. A = 0.93; Position Shift = -8.50
Form 40: N of Items = 6; Cor. A = 0.93; Position Shift = 3.67
All Forms: N of Items = 29; Cor. A = 0.94; Position Shift = 2.17

*Position shift is based on the final anchor set.


newb

2010 Grade 9 Readlng

kex Comparison of [tem characterist

Form 37: N of ltems = 7; Cor. B = 0.96; *Ave. B Change = -0.28; **Position Shift = 6.43

Form 38: N of Items = 8; Cor. B = 0.93; Ave. B Change = 0.10; Position Shift = 8.00

Form 39: N of Iltems = 8; Cor. B = 1.00; Ave. B Change = 0.04; Position Shift = -8.50

Form 40: N of Iltems = 6; Cor. B = 0.96; Ave. B Change = 0.09; Position Shift = 3.67

All Forms: N of Iltems = 29; Cor. B = 0.95; Ave. B Change = -0.01; Position Shift =2.17
(SD B Change = 0.24)

*B parameter is on the IRT scale. Change = New B - Old B.

**Position shift is based on the final anchor set.

¢ curves (ICCs): N

Final Solution

ew vs. Old *3##[bparameter]
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hiro.fukuhara
Text Box
b parameter

hiro.fukuhara
Text Box
Form 37: N of Items = 7; Cor. B = 0.96; *Ave. B Change = -0.28; **Position Shift = 6.43
Form 38: N of Items = 8; Cor. B = 0.93; Ave. B Change = 0.10; Position Shift  = 8.00
Form 39: N of Items = 8; Cor. B = 1.00; Ave. B Change = 0.04; Position Shift = -8.50
Form 40: N of Items = 6; Cor. B = 0.96; Ave. B Change = 0.09; Position Shift = 3.67
All Forms: N of Items = 29; Cor. B = 0.95; Ave. B Change = -0.01; Position Shift = 2.17
                                                                   (SD B Change = 0.24)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.
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2010 Grade 9 Reading — Final Solution

tx+ Comparison of

| tem characteristic curves (I1CCs): New vs,

Ce

014 +++ [Epamamee]

formlabel
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newa
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“|Form 37: N of Items = 8; Cor. A = 0.97; *Position Shift = -0.75
||Form 38: N of Items = 8; Cor. A = 0.81; Position Shift = 0.38 @ 0

1|Form 40: N of Items = 6; Cor. A = 0.80; Position Shift = 3.17

1|*Position shift is based on the final anchor set.

2010 Grade 10 Reading — Final Solution

kx+ Comparison of Item charocteristic curves (1CCs): New vs. 0ld *x+ [aparameter]

Form 39: N of Items = 5; Cor. A = 0.75; Position Shift = -6.40

All Forms: N of Items = 27; Cor. A = 0.83; Position Shift = -0.59
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hiro.fukuhara
Text Box
a parameter

hiro.fukuhara
Text Box
Form 37: N of Items = 8; Cor. A = 0.97; *Position Shift = -0.75
Form 38: N of Items = 8; Cor. A = 0.81; Position Shift  = 0.38
Form 39: N of Items = 5; Cor. A = 0.75; Position Shift = -6.40
Form 40: N of Items = 6; Cor. A = 0.80; Position Shift = 3.17
All Forms: N of Items = 27; Cor. A = 0.83; Position Shift = -0.59

*Position shift is based on the final anchor set.


2010 Grade 10 Reading — Final Solution

t++ Comparison of Item characteristic curves (ICCs): New vs. 0ld #+#[bparameter]

Form 37: N of Iltems = 8; Cor. B = 0.97; *Ave. B Change = -0.05; **Position Shift = -0.75

Form 38: N of Items = 8; Cor. B = 0.97; Ave. B Change = -0.13; Position Shift = 0.38

Form 39: N of Iltems = 5; Cor. B = 0.94; Ave. B Change = 0.16; Position Shift = -6.40

Form 40: N of Iltems = 6; Cor. B = 0.94; Ave. B Change = 0.09; Position Shift = 3.17

All Forms: N of Iltems = 27; Cor. B = 0.95; Ave. B Change = 0.00; Position Shift = -0.59
(SD B Change = 0.28)

*B parameter is on the IRT scale. Change = New B - Old B.

**Position shift is based on the final anchor set.
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Text Box
b parameter

hiro.fukuhara
Text Box
Form 37: N of Items = 8; Cor. B = 0.97; *Ave. B Change = -0.05; **Position Shift = -0.75
Form 38: N of Items = 8; Cor. B = 0.97; Ave. B Change = -0.13; Position Shift  = 0.38
Form 39: N of Items = 5; Cor. B = 0.94; Ave. B Change = 0.16; Position Shift = -6.40
Form 40: N of Items = 6; Cor. B = 0.94; Ave. B Change = 0.09; Position Shift = 3.17
All Forms: N of Items = 27; Cor. B = 0.95; Ave. B Change = 0.00; Position Shift = -0.59
                                                                   (SD B Change = 0.28)
*B parameter is on the IRT scale. Change = New B - Old B.
**Position shift is based on the final anchor set.


2010 Grade 10 Reading — Final Solution

#+x Comparison of Item charocteristic curves (ICCs): New vs. Old #+##[cparameter]
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